—
RO

DIAMON

a Camozzi Automation brand

Product Cata ogue

www.diamon.pl
biuro@diamon.pl
tel. +48 34 35 88 305






$ 1SOCERT

CERTIFICATE OF

MANAGEMENT SYSTEM

Camozzi Automation sp. z o.0.

46-310 Gorzoéw Slagski, ul. Byczynska 44

ISOCERT sp. z 0.0. sp.k. declares that a certified organisation has implemented
and uses a management system satisfying the requirements of:

PN- EN ISO 9001:2015-10

Scope of certification:
production and sale of fittings and tubes for air braking systems

Certificate No.: 146001/C/2

Date of the certification decision: 17.01.2019

This Certificate is valid from 10.01.2020 to 16.01.2022
Issued on: 10.01.2020

This Certificate cancels and supersedes Certificate No. 146001/C/1 of 17.01.2019

Certificate issued by

ISOCERT sp. z 0.0. sp.k. fﬁPCA
POLSKIE CENTRUM
AKREDYTACJI
) 4
<{CHO
CEHT‘I’FIKA‘B.HI
SYSTEMOW
Tomasz Wycisk bl
Director of certification AC 139
QMms

ISOCERT sp. z 0.0. sp.k., ul. Rysia 1a, 53-656 Wbctaw



CERTIFICATE

No.: TM 61000333.003

(( Licence holder
CAMOZZI

Automation

ul. Byczynska 44

43-310 Gorzéw Slgski, PL

H TUVRHelnland ||
B\ CERTIFIED
E

Manufacturing Plant

CAMOZZI AUTOMATION Sp. zo.o. CAMOZZI AUTOMATION Sp. z 0.0.

ul. Byczynska 44
43-310 Gorzéw Slgski, PL

Project number Our reference Validity period
26100326 SD/39044410 from 25.04.2017 till 24.04.2022
Test basis

SAE J-2494-3:2019 punkt 3.2.5 ISO 7628:2010 Annex B pt B.1.1

TUV Rheinland Polska Sp. z o.0. declares that the product described below is compliant with the
requirements of the reference documents cited:

Brass connectors for pneumatic brake systems:

003 XX XX XX — Reduction (F/M/M) 096 XX XX — Reduction (M/F)

003 XX XX XX B — Reduction (F/M/M) 097 XXX XX — Hose nipple (M/a)

003 XX XX XX 10 — Redukcja with o-ring (F/M/M) 098 XX — Nute (F)

010 XX XX — Elbow (M/F) 100 XX XX — Push-in coupling (M/g)

011 XX XX — Elbow (M/M) 108 XX XX — Push-in coupling (F/@)

020 XX XX - 3-way connector type ,L"- (M/F/F) 110 XX XX — Elbow (M/@)

030 XX XX — 3-way connector type ,T"- (F/M/F) 120 XX XX - 3-way connector type ,L"- (M/a/@)
040 XX XX — Elbow 45° (M/F) 121 XX XX - 3-way connector type ,L"- (M/TP/g)
041 XX XX - 4-way connector (M/F/F/F) 123 XX XX — 3-way connector type ,L"- (M/TP/a)
050 XX — Union (F/F) 130 XX XX — 3-way connector type ,T"- (a/M/@)
053 XX XX - Bulkhead coupling (M/F) 131 XX XX - 3-way connector type ,T"- (@ /M/TP)
060 XX — Elbow (F/F) 140 XX XX — Elbow 450 (M/@)

063 XX XX — Bulkhead elbow (M/F) 141 XX XX — 4-way connector (M/e/@/a)

070 XX — 3-way connector (F/F/F) 150 XX - Tube connector (@/@)
090 XX — Test point (M) 160 XX — Elbow (o/@)

092 XX — Nut (F) 170 XX — 3-way connector (2/e/8)
095 XX - Plug (M) DRV XX — Drain valve (M)

TUV Rheinland Polska Sp. z 0.0.
ul. 17 Stycznia 56,

02-146 Warszawa, Polska

Phone: (+48/22) 846 79 99
Phone: (+48/22) 868 37 42

e-mail: post@pl.tuv.com

Warsaw, 20.03.2020

This certificate is subject to the Certification Regulations and General Terms and Conditions of JCW TRP Transactionst\ahd applies exclusively to products compliant with the
sample being the basis for the conducted conformity evaluation. This certificate itself does not authorise the owner to place the CE mark on the product.
This certificate authorises to place the TUV Safety mark on the product.

Safety

Regular
Production
Surveillance

A TUVRheinland®

Precisely Right.

www.tuv.pl

F14-WA Certificate form Page 1/1



PL: Spis DE: Verzeichnis

EN: List RU: Cnncok

PL: | Ztaczka prosta (M / g)

100 EN: | Push-in coupling (M / g) strona/page
DE: | Gerade Steckverbindung (M/ ¢) 12
RU: | Mpsmoi GUTUHT ¢ HapyxHoit pesbbort (M / g)
PL: | Ztaczka prosta (F / )

108 EN: Push-in coupling (F / 9) strona/page
DE: | Gerade Steckverbindung (F / ¢) 13
RU: | Mpsamoi GUTUHT ¢ HapyxHoit pesb6oi (F / 6)
PL: | Kolanko (M / g)

110 EN: | Elbow (M/ 9) strona/page
DE: | Bogen (M/ ¢) 14
RU: | YronbHuk (M / @)
PL: | Tréjnik "L" (M / @/ @)

120 EN: | 3-way connectortype"L" (M / @/ @) strona/page
DE: | L-Verbinder (M/ ¢/ @) 15
RU: | Tpoinuk tun"L" (M / ¢/ @)
PL: | Trojnik'L'(M/ TP/ @)

121 EN: | 3-way connector type'L' (M / TP/ g) strona/page
DE: | L-Verbinder (M/ TP/ g) 16
RU: | Tpoiuk tun'L' (M / TP/ @)
PL: | Trojnik'L' (M / TP/ o)

123 EN: | 3-way connector type'L' (M / TP/ @) strona/page
DE: | L-Verbinder (M/ TP/ 9) 17
RU: | Tpoitnuk tun'L' (M / TP/ @)
PL: Trojnik "T" (a/M/ @)

130 EN: | 3-way connector type "T" (a/M/ 9) strona/page
DE: | T-Verbinder (8/M/ @) 18
RU: | TpoiHuk tun"T" (¢/M/ @)
PL: | Tréjnik T (a/M/ TP)

131 EN: | 3-way connector type T (¢/M/ TP) strona/page
DE: | T-Verbinder (¢/M/ TP) 19
RU: | TpowHuk Tun'T (¢/M/ TP)

ul. Byczynska 44 tel. +48 34 35 88 305

www.diamon.pl R : ' X
46-310 Gorzow Slaski biuro@diamon.pl




PL: Spis

EN: List

DE: Verzeichnis

RU: Cnucok

PL: | Kolanko 45° (M / @)

.I 40 EN Elbow 45: (M / Q) Strona/page
DE: | Bogen 45° (M / ¢) 20
RU: | YronbHuk 45° (M / @)
PL: | Czwornik (M / ¢/ o/ )

147 EN: | 4-way connector (M / ¢/ ¢/ @) strona/page
DE: | Kreuzstiick (M / o/ ¢/ o) 21
RU: | Kpectosuna (M / ¢/ ¢/ o)
PL: | Ztacze awaryjne (¢/ 9)

150 EN: | Tube connector (¢/ @) strona/page
DE: | Rohrverbinder (¢/ @) 22
RU: | CoeauHutens TpybKa-Tpy6Ka (¢/ @)
PL: | Kolanko (¢/ 9)

160 EN: | Elbow (¢/ 9) strona/page
DE: | Bogen (¢/ @) 22
RU: | YronbHuk (¢/ o)
PL: | Trojnik (¢/ ¢/ 0)

170 EN: | 3-way connector (@/ ¢/ @) strona/page
DE: | 3-Wege-Verbinder (¢/ ¢/ o) 23
RU: | Tpoinuk (o/ o/ o)
PL: | Kolanko (M/F)

010 EN: | Elbow (M/F) strona/page
DE: | Bogen (M/F) 23
RU: | YronbHuk (M/F)
PL: | Trojnik L' (M/F/F)

020 EN: | 3-way connector type'L' (M/F/F) strona/page
DE: | L-Verbinder (M/F/F) 24
RU: | TpoinHuk tun'L' (M/F/F)
PL: | Trojnik T (F/M/F)

030 EN: | 3-way connector type T (F/M/F) strona/page
DE: | T-Verbinder (F/M/F) 24
RU: | Tpoinuk un 'T' (F/M/F)

ul. Byczynska 44 tel. +48 34 35 88 305

www.diamon.pl R :
46-310 Gorzow Slaski

biuro@diamon.pl




PL: Spis

EN: List

DE: Verzeichnis
RU: Cnucok

PL: | Kolanko 45° (M/F)
040 EN: | Elbow 45° (M/F) strona/page
DE: | Bogen 45° (M/F) 25
RU: | YronbHuk 45° (M/F)
PL: | Czwdrnik (M/F/F/F)
EN: | 4-way connector (M/F/F/F) strona/page
041 DE: | Kreuzstiick (M/F/F/F) 25
RU: | KpectosuHa (M/F/F/F)
PL: Mufa (F/F)
050 EN: Union (F/F) Strona/page
DE: | Gerade Befestigung (F/F) 25
RU: | MNepexoanuk (F/F)
PL: | Kolanko (F/F)
EN: | Elbow (F/F) strona/page
060 DE: | Bogen (F/F) 26
RU: | YronbHuk (F/F)
PL: Tréjnik (F/F/F)
070 EN: | 3-way connector (F/F/F) strona/page
DE: | 3-Wege-Verbinder (F/F/F) 2
RU: | TpoiiHuk (F/F/F)
PL: | Prostagrodziowa (M/F)
053 EN: | Bulkhead coupling (M/F) strona/page
DE: | Schottstutzen (M/F) 26
RU: | MNepexoaHuk (M/F)
PL: | Kolanko grodziowe (M/F)
063 EN: | Bulkhead elbow (M/F) strona/page
DE: | Winkel (M/F) 27
RU: | Agmantep yrnoson (M/F)
PL: | Redukcja (F/M/M)
003 EN: | Reduction (F/M/M) strona/page
DE: | Schottstutzen (F/M/M) 27
RU: | Mepexopnuk (F/M/M)

ul. Byczynska 44 tel. +48 34 35 88 305

www.diamon.pl R :
46-310 Gorzow Slaski

biuro@diamon.pl




PL: Spis DE: Verzeichnis
EN: List RU: Cnucok
PL: | Redukcja z uszczelnieniem (F/M/M)
003..10 EN: | Reduction with o-ring (F/M/M) strona/page
" DE: | Schottstutzen mit O-ring (F/M/M) 28
RU: | MNepexogHuk (F/M/M)
PL: | Kolanko (M/M)
011 EN: | Elbow (M/M) strona/page
DE: | Bogen (M/M) 28
RU: | Agantep yrnoson (M/M)
PL: | Prostanawaz(M/ g)
097 | EN: | Hose nipple (M/ 9) strona/page
| DE: | Schlauchstutzen (M/ @) 29
RU: MepexofHuK Ha wnaHr (M / g)
PL: | Nakretka pod o-ring (F)
EN: | Nut(F) strona/page
092 DE: | Kontermutter (F) 29
RU: | KowTpraiika (F)
__ PL: | Nakretka (F)
EN: | Nut(F) strona/page
098 9 DE: | Kontermutter (F) 30
RU: | Kontpraiika (F)
PL: | Korek (M)
EN: | Plug (M) strona/page
095 v DE: | Stopfen (M) 30
RU: | 3arnywka (M)
PL: | Redukcja korkowa (M/F)
096 EN: | Reduction (M/F) strona/page
DE: | Adapter (M/F) 31
RU: | Mepexognuk (M/F)
PL: | Ztacze kontrolne (M)
090 EN: | Test point (M) strona/page
DE: | Priifanschlup (M) 31
RU: | KnanaH KoHTposnbHoro BbiBoaa (M)

tel. +48 34 35 88 305
biuro@diamon.pl

ul. Byczynska 44
46-310 Gorzow Slaski

www.diamon.pl




PL: Spis DE: Verzeichnis

EN: List RU: Cnucok

PL: | Zawdr odwadniajgcy (M)
EN: | Drain valve (M) strona/page
DE: | Entwasserungsanschluss (M) 31

RU: | KnanaH c6poca koHaeHcaTa (M)

DRV

www.diamon.pl ul. Byczynska 44 tel. +48 34 35 88 305

46-310 Gorzéw Slaski biuro@diamon.pl




PL: Instrukcja montazu DE: Die Montageanweisung

EN: Assembling instruction RU: UHCTpyKumm no cbopke
PL: Gwint PL: Moment sity
EN: Thread EN: Tighteningtorque
DE: Metrisches DE: Gewindeanzugsdrehmoment
RU: Pe3bba RU: MomeHT
M10x1 22 Nm+10%

M12x1,5 24 Nm10%

M14x1,5 30 Nm10%

M16x1,5 35 Nm+10%

M18x1,5 36 Nm+10%

M22x1,5 40 Nm10%

M26x1,5 45 Nm+10%

PL: Prawidtowy montaz przewodu odbywa sie poprzez wtozenie przewodu do ztgczki wykonujgc ruch obrotowy
przewodu wokot wtasnej osi. Wtasciwe osadzenie przewodu jest potwierdzone przez styszalny dzwiek "KLIK".

EN: Proper installation of the tube is done by inserting the tube into the connector by following the rotation
of the tube around its own axis. Proper seating of the tube is confirmed by an audible sound "CLICK".

DE: Eine korrekte Installation der Leitung erfolgt durch das Einfiigen der Leitung in das Verbindungsstiick, dabei
sollte mann die Leitung drehen. Die richtige Montage wird durch einen Horbaren Ton (CLICK) bestatigt.

RU: MpaBunbHas ycTaHOBKa TPy6bKM OCYLLLECTBAAETCS MyTeM BCTaBKM TPyOKMU B pa3beM, creays BpalleHue Tpy6bbl

BOKPYI CBO€eW CO6CTBEHHOM ocy. [paBunbHas nocaaka Tpyoku NoATBEPXAAETCSA 3BYKOBbIM CUrHanom "Knuk'".

15°
=

PL: Maksymalny kat ciecia przewodu.
EN: The maximum angle of tube bending.
DE: Maximaler Winkel des Schnittes.

"ELIK" RU: MakcuManbHbIv yron usrmuba Tpyébl.
Tube @ Depth [mm] (H)
ox4 20
8x6 22
10x8 22
12x9 23,5
15x12 27

ul. Byczynska 44 tel. +48 34 35 88 305

www.diamon.pl R : ' X
46-310 Gorzow Slaski biuro@diamon.pl




PL: Instrukcja demontazu DE: Demontageanleitung
EN: Disassembly instructions ~ RU: MHCTpyKuum no pasdopke

Step 1 Step 2 Step 3 Step 5

PL: Istnieje mozliwo$¢ demontazu przewodu ze ztgczki wytgcznie przy uzyciu specjalnego przyrzadu.
W tym celu nalezy umiescié przyrzad do wyjmowania na rurce zgodnie z rysunkiem (Krok 1-2).
Nastepnie nalezy wtozy¢ przyrzad do ztgczki (Krok 3) i wykonujgc ruch obrotowy wyja¢ przewdd
ze ztgczki (Krok 4). Na koricu wyjmujemy przyrzad ze ztgczki (Krok 5).
Taki sposéb demontazu chroni przed uszkodzeniem ztgczki i daje gwarancje prawidtowego funkcjonowania
ztgczki po ponownym prawidtowym zamontowaniu przewodu.

EN: Exist possibility to disassembling tube from connector, only if you use special tool. To do this, put a device
for removing on the tube (Steps 1-2).
In next step put removing tools into connector (Step 3) and performing the rotation around the axis of the tube
remove the tube from the connector (Step 4). At te end remove tools from connector (Step 5).
This way of disassembling protect connector against damage and guarantee the proper
functioning of connector after again assembling.

DE: Es besteht die Moglichkeit die Leitung aus dem Verbindungsstiick herauszunehmen bei der Anwendung eines
Spezialwerkzeuges, dazu sollte man das Werkzeug auf der Leitung anbringen (Schritt 1-2).
Dann sollte Mann das Werkzeug in das Verbindungsstiick einlegen (Schritt 3) und mit einer Drehung
die Leitung aus dem Verbindungsstiick herauszunehmen (Schritt 4), am Ende nehmen Sie das Werkzeug aus
dem Verbindungsstiick heraus (Schritt 5).
Diese Methode der Demontage schiitzt vor der Beschadigung des Verbindungsstiicks, und garantiert
die richtige Funktion des Verbindungsstiicks bei der erneuten Montage der Leitung.

RU: CywwecTBoBaTb BOSMOXHOCTb Pa3bopKy TPYyO6KM U3 pasbeMa, TOJIbKO eC/N Bbl UCNOJIb3YeTe
cneuuanbHbI MHCTPYMEHT. YTo6bl caenaTb 3TO, MOMECTUTe YCTPOMCTBO A YAaneHus Ha Tpy6e (Laru 1-2).
Ha cnepfytoleM Lware NoMecTUTb yaaneHue MHCTPYMEHTOB B coeauHuTens (LLar 3) v BbINoNHSAA BpaLLeHue
BOKPYF OCU TPYOKM BbIHYTb TPYOKY M3 coegunutens (LLar 4). B koHue T3 yaanutb
MHCTPYMeHTbI U3 pasbeMa (LLar 5).
Takom cnoco6 pasbopKy 3aLMTUTb Pa3beM OT NOBPEXAEHUN U FapaHTUPOBATb Haaexallee
(bYHKLUMOHMPOBAHNE COEMHUTENISA MOCIe MOBTOPHOMO MOHTaXa.

ul. Byczynska 44 tel. +48 34 35 88 305
46-310 Gorzéw Slaski biuro@diamon.pl

www.diamon.pl




100 — PL: Ztgczka prosta (M / o)

DE: Gerade Steckverbindung (M / )

EN: Push-in coupling (M / @)

www.diamon.pl

RU: MpaMoi dUTUHT ¢ HapyXHoW pe3bbon (M / @)

Ch
M
Kod [/ M Ch
1000610 6x4 M10x1 18
100 06 12 6x4 M12x1,5 18
100 06 14 6x4 M14x1,5 22
10006 16 6x4 M16x1,5 22
100 06 22 6x4 M22x1,5 28
10008 10 8x6 M10x1 18
100 08 12 8x6 M12x1,5 18
100 08 14 8x6 M14x1,5 22
100 08 16 8x6 M16x1,5 22
100 08 22 8x6 M22x1,5 28
1001010 10x8 M10x1 22
1001012 10x8 M12x1,5 22
10010 14 10x8 M14x1,5 22
1001016 10x8 M16x1,5 22
10010 22 10x8 M22x1,5 28
1001212 12x9 M12x1,5 22
1001214 12x9 M14x1,5 22
1001216 12x9 M16x1,5 22
10012 22 12x9 M22x1,5 28
1001516 15x12 M16x1,5 28
100 15 22 15x12 M22x1,5 28
10016 16 16x12 M16x1,5 28
100 16 22 16x12 M22x1,5 28

ul. Byczynska 44
46-310 Gorzow Slaski

tel. +48 34 35 88 305
biuro@diamon.pl




108 — PL: Ztgczka prosta ( F/ @) DE: Gerade Steckverbindung ( F / @)

EN: Push-in coupling ( F/ @) RU: MpsiMon GUTKHT ¢ Hapy>XHoM pe3bboi ( F / @)

Kod [ F Ch
108 0612 6x4 F12x1,5 18
108 06 14 6x4 F14x1,5 22
108 06 16 6x4 F16x1,5 22
108 06 22 6x4 F22x1,5 28
108 08 10 8x6 F10x1 18
108 0812 8x6 F12x1,5 18
108 08 14 8x6 F14x1,5 22
108 0816 8x6 F16x1,5 22
108 08 22 8x6 F22x1,5 28
108 1010 10x8 F10x1 22
108 1012 10x8 F12x1,5 22
108 10 14 10x8 F14x1,5 22
108 1016 10x8 F16x1,5 22
108 1022 10x8 F22x1,5 28
108 1212 12x9 F12x1,5 22
108 1214 12x9 F14x1,5 22
108 1216 12x9 F16x1,5 22
108 1222 12x9 F22x1,5 28
108 1516 15x12 F16x1,5 28
108 1522 15x12 F22x1,5 28
108 1616 16x12 F16x1,5 28
108 16 22 16x12 F22x1,5 28

ul. Byczynska 44 tel. +48 34 35 88 305
46-310 Gorzow Slaski biuro@diamon.pl

www.diamon.pl




110 — PL: Kolanko (M / @) DE: Bogen (M / 9)
EN: Elbow (M / 9) RU: YronbHuk (M / @)

Kod (] M Ch Ch1
1100610 6x1 M10xT 17 14
1100612 6x1 M12x1,5 17 18
11006 16 6x1 M16x1,5 17 22
110 06 22 6x1 M22x1,5 17 28
1100810 8x1 M10x1 17 14
11008 12 8x1 M12x1,5 17 18
11008 16 8x1 M16x1,5 17 22
11008 22 8x1 M22x1,5 17 28
1101010 10x1 M10xT 17 14
1101012 10x1 M12x1,5 17 18
1101016 10x1 M16x1,5 17 22
11010 22 10x1 M22x1,5 17 28
1101212 12x1,5 M12x1,5 14 18
1101216 12x1,5 M16x1,5 14 22
11012 22 12x1,5 M22x1,5 22 28
1101516 15x1,5 M16x1,5 14 22
1101522 15x1,5 M22x1,5 22 28
1101616 16x2 M16x1,5 14 22
11016 22 16x2 M22x1,5 22 28

ul. Byczynska 44 tel. +48 34 35 88 305
46-310 Gorzéw Slaski biuro@diamon.pl

www.diamon.pl




120 — PL: Trojnik 'L' (M / @ / @) DE: L-Verbinder (M / ¢ / @)
EN: 3-way connector type'L' (M / ¢ / ¢) RU: TpoitHuk tun'L' (M / @ / 9)

Kod 2 ol M Ch Ch1
1200610 6x1 6x1 M10x1 17 14
12006 12 6x1 6x1 M12x1,5 17 18
12006 16 6x1 6x1 M16x1,5 17 22
120 06 22 6x1 6x1 M22x1,5 17 28
12008 10 8x1 8x1 M10x1 17 14
12008 12 8x1 8x1 M12x1,5 17 18
12008 16 8x1 8x1 M16x1,5 17 22
120 08 22 8x1 8x1 M22x1,5 17 28
1201010 10x1 10x1 M10x1 17 14
1201012 10x1 10x1 M12x1,5 17 18
1201016 10x1 10x1 M16x1,5 17 22
12010 22 10x1 10x1 M22x1,5 17 28
1201212 12x1,5 12x1,5 M12x1,5 22 18
1201216 12x1,5 12x1,5 M16x1,5 22 22
12012 22 12x1,5 12x1,5 M22x1,5 22 28
1201516 15x1,5 15x1,5 M16x1,5 22 22
12015 22 15x1,5 15x1,5 M22x1,5 22 28
1201616 16x2 16x2 M16x1,5 22 22
12016 22 16x2 16x2 M22x1,5 22 28

ul. Byczynska 44 tel. +48 34 35 88 305
46-310 Gorzéw Slaski biuro@diamon.pl

www.diamon.pl




121 = PL: Trojnik 'L’ (M / TP / 0) DE: L-Verbinder (M / TP / @)
EN: 3-way connector type'L' (M / TP / 9) RU: TponHuk tTun'L' (M / TP / ¢)

Kod ] M Ch Ch1
1210610 6x1 M10xT 17 14
1210612 6x1 M12x1,5 17 18
1210616 6x1 M16x1,5 17 22
121 06 22 6x1 M22x1,5 17 28
1210810 8x1 M10xT 17 14
1210812 8x1 M12x1,5 17 18
1210816 8x1 M16x1,5 17 22
121 08 22 8x1 M22x1,5 17 28
1211010 10x1 M10x1 17 14
1211012 10x1 M12x1,5 17 18
1211016 10x1 M16x1,5 17 22
12110 22 10x1 M22x1,5 17 28
1211212 12x1,5 M12x1,5 22 18
1211216 12x1,5 M16x1,5 22 22
12112 22 12x1,5 M22x1,5 22 28
1211516 15x1,5 M16x1,5 22 22
1211522 15x1,5 M22x1,5 22 28
1211616 16x2 M16x1,5 22 22
12116 22 16x2 M22x1,5 22 28

ul. Byczynska 44 tel. +48 34 35 88 305
46-310 Gorzéw Slaski biuro@diamon.pl

www.diamon.pl




123 = PL: Tréjnik L' (M / TP / @) DE: L-Verbinder (M / TP / @)

EN: 3-way connector type'L' (M / TP / ) RU: TpontHuk Tun'L' (M / TP / o)

T T
ZIARIN
“~. [DN
-
Kod (1] M Ch Ch1
12306 10 6x1 M10x1 17 14
123 0612 6x1 M12x1,5 17 18
12306 16 6x1 M16x1,5 17 | 22
123 06 22 6x1 M22x1,5 17 28
1230810 8x1 M10x1 17 14
1230812 8x1 M12x1,5 17 18
1230816 8x1 M16x1,5 17 22
123 08 22 8x1 M22x1,5 17 28
1231010 10x1 M10x1 17 14
1231012 10x1 M12x1,5 17 18
1231016 10x1 M16x1,5 17 | 22
12310 22 10x1 M22x1,5 17 28
1231212 12x1,5 M12x1,5 22 18
1231216 12x1,5 M16x1,5 22 22
1231222 12x1,5 M22x1,5 22 28
1231516 15x1,5 M16x1,5 22 | 22
1231522 15x1,5 M22x1,5 22 28
1231616 16x2 M16x1,5 22 22
12316 22 16x2 M22x1,5 22 28

ul. Byczynska 44 tel. +48 34 35 88 305
46-310 Gorzéw Slaski biuro@diamon.pl

www.diamon.pl




130 = PL: Trojnik 'T' (0 / M / 0) DE: T-Verbinder (¢ / M / o)
EN: 3-way connector type 'T' (¢ / M / @) RU: TpoitHuk Tun 'T' (¢ / M / @)

Kod ] ol M Ch Ch1
1300610 6x1 6x1 M10x1 12 14
1300612 6x1 6x1 M12x1,5 12 18
1300616 6x1 6x1 M16x1,5 12 22
13006 22 6x1 6x1 M22x1,5 12 28
1300810 8x1 8x1 M10x1 12 14
13008 12 8x1 8x1 M12x1,5 12 18
13008 16 8x1 8x1 M16x1,5 12 22
130 08 22 8x1 8x1 M22x1,5 12 28
1301010 10x1 10x1 M10x1 12 14
1301012 10x1 10x1 M12x1,5 12 18
1301016 10x1 10x1 M16x1,5 12 22
13010 22 10x1 10x1 M22x1,5 12 28
1301212 12x1,5 12x1,5 M12x1,5 22 18
1301216 12x1,5 12x1,5 M16x1,5 22 22
1301222 12x1,5 12x1,5 M22x1,5 22 28
1301516 15x1,5 15x1,5 M16x1,5 22 22
1301522 15x1,5 15x1,5 M22x1,5 22 28
1301616 16x2 16x2 M16x1,5 22 22
13016 22 16x2 16x2 M22x1,5 22 28

ul. Byczynska 44 tel. +48 34 35 88 305
46-310 Gorzéw Slaski biuro@diamon.pl

www.diamon.pl




131 = PL: Tréjnik T'(M / ¢ / TP) DE: T-Verbinder M/ @/ TP)
EN: 3-way connector type T'(M /@ / TP) RU: TpoHuk Tun'T'(M / @ / TP)

Kod (] M Ch Ch1
1310610 6x1 M10x1 12 14
1310612 6x1 M12x1,5 12 18
1310616 6x1 M16x1,5 12 22
131 06 22 6x1 M22x1,5 12 28
1310810 8x1 M10xT 12 14
1310812 8x1 M12x1,5 12 18
1310816 8x1 M16x1,5 12 22
131 08 22 8x1 M22x1,5 12 28
1311010 10x1 M10xT 12 14
1311012 10x1 M12x1,5 12 18
1311016 10x1 M16x1,5 12 22
13110 22 10x1 M22x1,5 12 28
1311212 12x1,5 M12x1,5 22 18
1311216 12x1,5 M16x1,5 22 22
1311222 12x1,5 M22x1,5 22 28
1311516 15x1,5 M16x1,5 22 22
1311522 15x1,5 M22x1,5 22 28
1311616 16x2 M16x1,5 22 22
1311622 16x2 M22x1,5 22 28

ul. Byczynska 44 tel. +48 34 35 88 305
46-310 Gorzéw Slaski biuro@diamon.pl

www.diamon.pl




140 - PL: Kolanko 45° (M / @)
EN: Elbow 45° (M / @)

www.diamon.pl

DE: Bogen 45° (M / @)

RU: YronbHuk 45° (M / )

Kod [ M Ch Ch1
14006 16 6x1 M16x1,5 22 22
140 06 22 6x1 M22x1,5 24 28
14008 16 8x1 M16x1,5 22 22
140 08 22 8x1 M22x1,5 24 28
1401016 10x1 M16x1,5 22 22
14010 22 10x1 M22x1,5 24 28
1401216 12x1,5 M16x1,5 22 22
14012 22 12x1,5 M22x1,5 24 28
1401516 15x1,5 M16x1,5 22 22
14015 22 15x1,5 M22x1,5 24 28
1401616 16x2 M16x1,5 22 22
140 16 22 16x2 M22x1,5 24 28

ul. Byczynska 44
46-310 Gorzow Slaski

tel. +48 34 35 88 305
biuro@diamon.pl




141 — PL: Czwornik M/ o / o / 9) DE: Kreuzstiick (M / @ / ¢ / 0)

EN: 4-way connector M/ ¢/ @ / @) RU: KpectoBrHa (M / ¢ / ¢ / @)

g
O
=
@2

Kod 2 o1 02 M Ch Ch1
1410610 6x1 6x1 6x1 M10x1 14 14
1410612 6x1 6x1 6x1 M12x1,5 14 18
1410616 6x1 6x1 6x1 M16x1,5 14 22
141 06 22 6x1 6x1 6x1 M22x1,5 14 28
14108 10 8x1 8x1 8x1 M10x1 14 14
141 0812 8x1 8x1 8x1 M12x1,5 14 18
141 08 16 8x1 8x1 8x1 M16x1,5 14 22
141 08 22 8x1 8x1 8x1 M22x1,5 14 28
1411010 10x1 10x1 10x1 M10x1 14 14
1411012 10x1 10x1 10x1 M12x1,5 14 18
1411016 10x1 10x1 10x1 M16x1,5 14 22
14110 22 10x1 10x1 10x1 M22x1,5 14 28
1411212 12x1,5 12x1,5 12x1,5 M12x1,5 14 18
1411216 12x1,5 12x1,5 12x1,5 M16x1,5 14 22
14112 22 12x1,5 12x1,5 12x1,5 M22x1,5 14 28
1411516 15x1,5 15x1,5 15x1,5 M16x1,5 14 22
1411522 15x1,5 15x1,5 15x1,5 M22x1,5 14 28
1411616 16x2 16x2 16x2 M16x1,5 14 22
14116 22 16x2 16x2 16x2 M22x1,5 14 28

ul. Byczynska 44 tel. +48 34 35 88 305
46-310 Gorzéw Slaski biuro@diamon.pl

www.diamon.pl




160 — PL: Kolanko (o / @)

EN: Elbow (¢ / 9)

www.diamon.pl

150 — PL: Ztgcze awaryjne (2 / 9)
EN: Tube connector (@ / @)

DE: Rohrverbinder (2 / 9)

RU

: CoeiHnUTeNb TPy6Ka-TpyoKa (@ / @)

Kod ] ol L

150 06 6x1 6x1 41,4
150 08 8x1 8x1 51

15010 10x1 10x1 45
15012 12x1,5 12x1,5 55
15015 15x1,5 15x1,5 65
15016 16x2 16x2 65

DE: Bogen (o / 9)
RU: YronbHuk (¢ / 0)

Kod [/ ol Ch
160 06 6x1 6x1 14
160 08 8x1 8x1 14
16010 10x1 10x1 14
160 12 12x1,5 12x1,5 14
160 15 15x1,5 15x1,5 14
160 16 16x2 16x2 14

ul. Byczynska 44
46-310 Gorzow Slaski

tel. +48 34 35 88 305

biuro@diamon.pl




170 — PL: Tréjnik (3 / o / 0)
EN: 3-way connector (¢ / @ / @)

DE: 3-Wege-Verbinder (2 / ¢ / o)
RU: TponHuk (¢ / ¢ / @)

Kod 0 o1 02 Ch
170 06 6x1 6x1 6x1 22
170 08 8x1 8x1 8x1 22
17010 10x1 10x1 10x1 22
17012 12x1,5 12x1,5 12x1,5 22
17015 15x1,5 15x1,5 15x1,5 22
17016 16x2 16x2 16x2 22

010 - PL: Kolanko (M / F)
EN: Elbow (M / F)

www.diamon.pl

DE: Bogen (M / F)
RU: YronbHuk (M / F)

Kod M F Ch Ch1
0101210 M10xT M12x1,5 17 14
0101212 M12x1,5 | M12x1,5 17 18
0101216 M16x1,5 | M12x1,5 17 22
0101222 M22x1,5 | M12x1,5 17 28
0101612 M12x1,5 | M16x1,5 14 18
0101616 M16x1,5 | M16x1,5 14 22
0101622 M22x1,5 | M16x1,5 14 28
010 2222 M22x1,5 | M22x1,5 22 28

ul. Byczynska 44

46-310 Gorzéw Slaski

tel. +48 34 35 88 305

biuro@diamon.pl




020 - PL: Tréjnik'L' (M / F / F)
EN: 3-way connector type'L' M/ F/ F)

DE: L-Verbinder(M/ F/F)

RU: TponHuk Tun'L' (M / F / F)

Kod M F F1 Ch Ch1
0201210 M10x1 M12x1,5 | M12x1,5 17 14
0201212 M12x1,5 | M12x1,5 | M12x1,5 17 18
0201216 M16x1,56 | M12x1,5 | M12x1,5 17 22
020 1222 M22x1,5 | M12x1,5 | M12x1,5 17 28
0201612 M12x1,5 | M16x1,5 | M16x1,5 22 18
0201616 M16x1,5 | M16x1,5 | M16x1,5 22 22
020 1622 M22x1,5 | M16x1,5 | M16x1,5 22 28
020 2222 M22x1,6 | M22x1,5 | M22x1,5 22 28

030 — PL: Trojnik T (F/ M/ F)
EN: 3-way connector type 'T'(F/ M/ F)

DE: T-Verbinder (F/ M/ F)

RU: TpoHuk Tun'L' (F/ M/ F)

www.diamon.pl

Kod M F F1 Ch Ch1
0301210 M10x1 M12x1,5 | M12x1,5 12 14
0301212 M12x1,5 | M12x1,56 | M12x1,5 12 18
0301216 M16x1,5 | M12x1,5 | M12x1,5 12 22
030 1222 M22x1,56 | M12x1,5 | M12x1,5 12 28
0301612 M12x1,5 | M16x1,5 | M16x1,5 22 18
0301616 M16x1,5 | M16x1,5 | M16x1,5 22 22
030 1622 M22x1,5 | M16x1,5 | M16x1,5 22 28
030 2222 M22x1,5 | M22x1,5 | M22x1,5 22 28

ul. Byczynska 44
46-310 Gorzow Slaski

tel. +48 34 35 88 305
biuro@diamon.pl




040 — PL: Kolanko 45° (M / F)
EN: Elbow 45° (M / F)

DE: Bogen 45° (M / F)
RU: YronbHuk 45° (M / F)

Kod M F Ch Ch1
0401616 M16x1,56 | M16x1,5 22 22
040 2222 M22x1,5 | M22x1,5 24 28

041 - PL: Czwérnik M/ F/F / F)
EN: 4-way connector (M /F/F /F)

DE: Kreuzstiick M/ F/F/F)
RU: KpectoBuHa (M / F/ F /F)

Kod M F F1 F2 Ch Ch1
0411612 M12x1,5 | M16x1,56 | M16x1,56 | M16x1,5 14 18
0411616 M16x1,5 | M16x1,5 | M16x1,6 | M16x1,5 14 22
041 1622 M22x1,5 | M16x1,5 | M16x1,5 | M16x1,5 14 28

050 — PL: Mufa (F / F)

EN: Union (F / F)

www.diamon.pl

DE: Gerade Befestigung (F / F)

RU: MepexoaHuk (F / F)

Kod F F1 L Ch
05010 M10x1 M10xT 22 18
05012 M12x1,5 | M12x1,5 22 18
05016 M16x1,5 | M16x1,5 22 22
050 22 M22x1,5 | M22x1,5 26 28

ul. Byczynska 44

46-310 Gorzéw Slaski

tel. +48 34 35 88 305

biuro@diamon.pl




EN: Elbow (F / F)

060 — PL: Kolanko (F / F)

DE: Bogen (F / F)

RU: YronbHuk (F / F)

Kod F F1 Ch
060 12 M12x1,5 | M12x1,5 14
060 16 M16x1,5 | M16x1,5 14
060 22 M22x1,5 | M22x1,5 17

070 — PL: Tréjnik (F/ F / F)
EN: 3-way connector (F/ F/ F)

DE: 3-Wege-Verbinder (F/F/F)
RU: TpoiHuk (F/ F / F)

Kod F F1 F2 Ch
07012 M12x1,56 | M12x1,56 | M12x1,5 18
07016 M16x1,5 | M16x1,5 | M16x1,5 22
07022 M22x1,5 | M22x1,5 | M22x1,5 16

053 - PL: tacznik grodziowy (M / F)
EN: Bulkhead coupling (M / F)

DE: Schottstutzen (M / F)
RU: MepexogHuk (M / F)

Ch

Chl

Kod M F L L1 Ch Ch1
0531218 M18x1,5 | M12x1,5 26 20 22 22
053 1622 M22x1,5 | M16x1,5 30 24 28 28
053 2228 M28x1,5 | M22x1,5 31 25 32 32

ul. Byczynska 44 tel. +48 34 35 88 305

www.diamon.pl R :
46-310 Gorzow Slaski

biuro@diamon.pl




063 — PL: Kolanko grodziowe (M / F) DE: Winkel (M / F)
EN: Bulkhead elbow (M / F) RU: AganTep yrnosoi (M / F)

Kod M F F1 Ch Chi
063 1218 M18x15 | M12x15 | M12x15 17 22
063 1622 M22x1,5 | M16x15 | M16x1,5 22 28

003 — PL: Redukcja (F/ M/ M) DE: Schottstutzen (F/ M / M)
EN: Reduction (F/ M/ M) RU: NepexoaHuk (F/ M / M)

F 7
==l s
Ir iz
M
Kod M M1 F L L1 L2 Ch Ch1
003 001612 M16x1,5 | M12x1,5 34,5 8,5 20 22 18
003 002216 M22x1,5 | M16x1,5 38,5 8,5 24 28 22

003101616 M16x1,5 | M16x1,5 M10x1 34,5 8,5 20 22 22
003121218 M12x1,5 | M18x1,5 | M12x1,56 | 34,5 8,5 20 22 22
003121618 M16x1,5 | M18x1,5 | M12x1,6 | 34,5 8,5 20 22 22
003 122218 M22x1,5 | M18x1,5 | M12x1,5 | 345 8,5 20 28 22
003 161622 M16x1,5 | M22x1,5 | M16x1,6 | 38,5 8,5 24 28 28
003 162222 M22x1,5 | M22x1,5 | M16x1,5 | 38,5 8,5 24 28 28

003 001612B | M16x1,5 | M12x1,5 34,5 8,5 20 22 S
003 002216 B | M22x1,5 | M16x1,5 38,5 8,5 24 28
003 101616B | M16x1,5 | M16x1,5 M10x1 34,5 8,5 20 22 oo
003121218B | M12x1,5 | M18x1,5 | M12x1,6 | 34,5 8,5 20 22
003121618 B | M16x1,5 | M18x1,6 | M12x1,6 | 34,5 8,5 20 22 oo
003 122218B | M22x1,5 | M18x1,5 | M12x1,5 | 345 8,5 20 28
003161622B | M16x1,5 | M22x1,56 | M16x1,6 | 38,5 8,5 24 28 —
003162222B | M22x1,5 | M22x1,5 | M16x1,56 | 38,5 8,5 24 28

ul. Byczynska 44 tel. +48 34 35 88 305
46-310 Gorzéw Slaski biuro@diamon.pl

www.diamon.pl




003..10 — PL: Redukcja z o-ringiem (F / M / M)

EN: Reduction with o-ring (F / M / M)

M1

DE: Schottstutzen mit O-ring(F / M / M)

RU: MepexoaHuk (F/ M / M)

]
N 7%

—
Kod M M1 F L L1 L2 Ch Chi
003 00161210 | M16x1,5 M12x1,5 - 34,5 8,5 20 22 18
003 00221610 | M22x1,5 M16x1,5 -—- 38,5 8,5 24 28 22
00310161610 | M16x1,5 M16x1,5 M10x1 34,5 8,5 20 22 22
00312121810 | M12x1,5 M18x1,5 M12x1,5 345 8,5 20 22 24
00312161810 | M16x1,5 M18x1,5 M12x1,5 34,5 8,5 20 22 24
00312221810 | M22x1,5 M18x1,5 M12x1,5 345 8,5 20 28 24
00316162210 | M16x1,5 M22x1,5 M16x1,5 38,5 8,5 24 28 28
003 162222 10| M22x1,5 M22x1,5 M16x1,5 38,5 8,5 24 28 28

011 - PL: Kolanko (M / M)
EN: Elbow (M / M)

DE: Bogen (M / M)
RU: ApganTtep yrnoeou (M / M)

Kod M M1 Ch Ch1 Ch2
0111616 M16x1,5 | M16x1,5 14 22 22
011 2222 M22x1,5 | M22x1,5 22 28 28

ul. Byczynska 44 tel. +48 34 35 88 305

www.diamon.pl R :
46-310 Gorzow Slaski

biuro@diamon.pl




097 - PL: Prosta nawaz (M / ) DE: Schlauchstutzen (M / @)

EN: Hose nipple (M / 9) : MepexogHuK Ha wnaHr (M / @)

; ]
il
= 7

=
Kod Fi M L L1 L2 Ch
09710016 10 M16x1,5 46,5 8,5 32 22
097 100 22 10 M22x1,5 46,5 8,5 32 28
09711012 11 M12x1,5 46,5 8,5 32 18
09711016 11 M16x1,5 46,5 8,5 32 22
09711022 11 M22x1,5 46,5 8,5 32 28
09712012 12 M12x1,5 46,5 8,5 32 18
09712016 12 M16x1,5 46,5 8,5 32 22
097 120 22 12 M22x1,5 46,5 8,5 32 28
09713016 13 M16x1,5 49,5 8,5 35 22
097 130 22 13 M22x1,5 49,5 8,5 35 28
097 14516 14,5 M16x1,5 49,5 8,5 35 22
097 145 22 14,5 M22x1,5 49,5 8,5 35 28

092 - PL: Nakretka pod o-ring (F) DE: Kontermutter (F)

EN: Nut (F) RU: KoHTpraika (F)

Kod F ch | H

; 092 10 M10x1 | 14 | 65

- 7 09212 M12x15 | 18 | 75
ChE/ NI 09216 Mi6x15 | 22 | 75
092 18 MI8x15 | 22 | 75

092 22 M22x15 | 28 | 75

ul. Byczynska 44 tel. +48 34 35 88 305

www.diamon.pl S : . :
46-310 Gorzow Slaski biuro@diamon.pl




098 - PL: Nakretka (F) DE: Kontermutter (F)
EN: Nut (F) RU: KoHTpravika (F)

Kod F Ch H
098 10 M10xT 14 6
098 12 M12x1,5 18 6
098 16 M16x1,5 22 6
098 18 M18x1,5 22 113
098 22 M22x1,5 28 6

095 - PL: Korek (M) DE: Stopfen (M)
SN TE(Y) RU: 3arnywka (M)

Kod M L L1 Ch
09510 M10x1 14 8 16
09512 M12x1,5 | 145 8,5 18
09516 M16x1,5 | 145 8,5 22
095 22 M22x1,5 | 14,5 8,5 28

ul. Byczynska 44 tel. +48 34 35 88 305

www.diamon.pl R : ' X
46-310 Gorzow Slaski biuro@diamon.pl




096 - PL: Redukcja korkowa (M / F) DE: Adapter (M / F)
EN: Reduction (M / F) RU: MepexoaHuk (M / F)

Version 1 L Version 2
Kod M F L L1 Ch Ver
0961216 M16x1,5 | M12x1,5 14,5 8,5 22 1
096 12 22 M22x1,5 | M12x1,5 | 14,5 8,5 28 1
096 16 22 M22x1,5 | M16x1,5 14,5 8,5 28 1
0961612 M12x1,5 | M16x1,5 | 23,5 8,5 22 2
09616 14 M14x1,5 | M16x1,5 | 235 8,5 22 2
096 2212 M12x1,5 | M22x1,5 | 23,5 8,5 28 2
096 2216 M16x1,5 | M22x1,5 | 23,5 8,5 28 2

090 - PL: Ztacze kontrolne (M) DE: Priifanschlup (M)
EN: Test point (M) RU: KnanaH KoHTposibHOro BbiBoaa (M)

( | ﬁj—' Kod M L L1 Ch
N\ . 090 12 M12x1,5 | 37 8,5 18
o 090 16 M16x1,5 | 37 8,5 22
i 090 22 M22x1,5 | 37 8,5 28

DRV — PL: Zawoér odwadniajgcy (M) DE: Entwasserungsanschluss (M)
EN: Drain valve (M) RU: KnanaH cé6poca koHaeHcaTa (M)

DRV 22 DRV 22 A
Kod M L L1 L2 Ch
DRV 22 M22x1,5 23 8,5 8,5 28
DRV 22 A M22x1,5 728} 8,5 8,5 28

ul. Byczynska 44 tel. +48 34 35 88 305

www.diamon.pl R : ' X
46-310 Gorzow Slaski biuro@diamon.pl




DIAMON

a Camozzi Automation brand

Camozzi Automation Sp. z o.o.
ul. Byczynska 44 » 46-310 Gorzéw Slaski

www.diamon.pl ¢ b|uro@d|amon pl « tel. 0048 34 35 88 305




